WD TMYRIVT VYR ORI 79I noon MIA AT TINHD My BT

30.5.2; 79b (27112 122 81 i 171) 2 80a (1771722707 8IW 1926K)

12,37 #7777 TR DI I0NYUN RY 132 NRY INR 1Y IR 999} s

77,7 7127 3011 IR JUITY IPRY NN 7281 98 10TY DY D72IVI NP Y 19IRA TYR NNNIAN NRE .2

I Dispute between nnaon/x™ regarding application of 2 to a "2” (some hybrid of a n'n and nnna)

a
b

o MR applies to both ©xY3 (e.g. mule or hinny) and »>
N7 only DR53, not "2
i n”r the 2" about which they debated is a mix of a goat and deer
1 Cannot be: that the mother is a deer -if the mother is a deer, 2”& does not apply, per v. 1 — "nw” (n")
2 But cannot be: a hart with a nanny-goat — no one would exempt, as 112 means any offspring (n")
3 Rather: it is a billy-goat with a doe, and the offspring (F) has a baby:
(a) 227 we consider the father’s identity and nw can even be nw n¥pn > ToR
(b) &7 we do not consider the father’s identity and we don’t allow for a partial nw = amn
4 Challenge: then they should disagree about arn ya1% pwwin, with 13139/nn (above)
(a) Defense: if they only joined that dispute, we would think that in our case we don’t allow for partial nw
5  Challenge: v:1 01131 — we don’t slaughter "3 on v but if it happened, we don’t cover o7
(a) Explanation: if a billy-goat and doe mated — all agree that there should be full #1073 (»ax nx¥pn "ar)
(b) Rather: if a hart with nanny-goat, 13271 should require full o3 and 8" should fully exempt
(i) Answer: itis a hart with nanny-goat and 11171 are unsure if arn Y9 pYWVIN
(ii) Inference: X"y must be sure that we do not consider the father’s identity at all
(iii) Challenge: X" dissents re: N33 Nann and exempts a M3 from P17t ete. and 1127 obligate
1. Explanation: if a billy-goat with doe, why do 1121 obligate? He should be fully exempt from %5, and
put the onus of proof on the jn2 for the other half (n"ynn)
(iv) Rather: must be hart with nanny-goat; 1321 obligate Y5,
1. But: 8" should obligate fully
2. Answer: X" is also unsure if a8 YIS PYWIN - it may be exempt
ii ~ Observation: since 8" and 1127 are all unsure if arn Y9 pPYWIN, where is their dispute?
1 Answer: whether or not we allow for a partial nw
(a) Therefore (97): regarding DT "3 and NN NNy, can only be a hart with a nanny-goat
(i) Since: they disagree about nw nxpn, X" exempts from minn and both exempt from v"a "2
(b) And: regarding 1", could be either:
(i) Billy-goat with doe: dispute is whether there is an MR at all
(if) Hart with nanny-goat: dispute is whether there are man (but 8" would agree to an Mo'R)

II  Identity of "

a

533 2p1.
i A7 37 separate genus, 'nan didn’t determine if n'n or nnna
ii 77 itis a wild gazelle
27N I
i p'mowild gazelle
ii o798 v~ hybrid of billy-goat and doe
iii oy 7. separate genus, 'nan didn’t determine if n'n or nnna
iv 27wt itis fully a nnna and the people of 'xw1T na raise herds of them
The status of 85827 'rp (wild goats): whether n'n or nnna
i ~r 7 fully fit for nam, per pny’ 1 who reckons the 10 animals in v. 2
1 Explanation: since it isn’t listed among nvn but is "7nv, must be a subset of 1y
2 Challenge: perhaps we should read »ax1 %X etc. as V19, NN Y3 as Y93 > expands to many more NN
3 Answer: no need for so many 0’018 - must be exhaustive list
4 Challenge: perhaps it is a sub-genus of %X, »n or 7t
(a) Note: 1R allowed people to eat the fats (fully n’n)
i A”n 797 7772 8177 7. even 112101 "1 only disagree about 1’n
1 a7 since the mwn is RY2-1n - it is a type of MW
2 oy /7. since it is listed among nvn = N
3 But: they would agree that X9X27 'Y are mnna (in spite of 11R’s ruling above and challenges above)
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